run_13056011 FGT ADC _1,Timebin=2,Disc=1,asmb=1DA

Sat Feb 25 03:19:08 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

o
3
[
o
a
<
10
St
3000 4000
raw ADC
[ADC f
o
[
o
a
<
10

I
3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

70
[

a)
<

3000 4000
raw ADC

ADOpgj

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
=
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 25 03:21:06 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13056011 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 25 03:21:40 2012

[ ADC RMS for RDO=1,ARM=0,APV=0 _}
= —
g 60 [—
o =
=] b—
< oy
& 50 b—
b m—
- =]
40
a
30 :_
20
0
=
.i_
'
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=1 "}
= =
g 70
9]
o
) 60
12} .|
z =I
s0 FH
H
H
H
40 FH
oy =
20 =
= : :
= a q
o = i i . i i i i
0 20 20 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=2 "}
=3 —
g 70 E
9]
[a}
< 60
0
s
& 2
50 =
40
30
20 [
10 f=
i i
® 00 20
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=3 _}
= —
S
g 0 [
< h—
o =
= 50 fb—
= =
py=
30 f—
20 f— 2
= 2
10 f— g
® = i i i i i i
0 20 40 60 80 100 120
APV channel
| ADC RMS for RDO=1,ARM=0,APV=4 .
= 70 f/—
3 T
2 60 [ -1
12}
= = H
& 50 f—= B
40 :1— g
30 :—
20 = :
10 f— g
o = i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel




run_13056011 FGT ADC _1,Timebin=2,Disc=1,asmb=1DA

Sat Feb 25 03:19:12 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

.
2
Q

a)
<

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

§_02

a)
<

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

ADC-ped

i i i
1000 2000 3000 40(
raw ADC

S}

[ADC for FGT RDO=1,ARM=0,APV=8 }

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=9 l

ADC-ped

iyt
1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—- - -
< =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
o
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o =
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 25 03:21:07 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

-500

. . ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13056011 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sat Feb 25 03:21:41 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

80

70

60

50

40

30

20

10

- IIIaCENIOCENIOERNICERIICENIICENIOCENACER]

0

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

70

60

50

40

30 |

20

10

i
120

0

=
=
=
.i_
0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

70 =
60 =
50
40
30

20

10

0

°'I111|HH[I‘I‘I'I]1IIIIHI‘I'

20 40 60 80 100 120
APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Feb 25 03:19:16 2012

ADC for

FGT RDO=1,ARM=0,APV=12

ADC-ped

[ 1000

2000

3000 4000
raw ADC

ADC for

FGT RDO=1,ARM=0,APV=13

ADC-ped

|
0 1000

St
3000 40(

2000 0
raw ADC
[ Apcfor Fet RDO=LARM=0APV-14 |
5
3
[
o
a
<
10
- i i i
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=0,APV=15 |
2
¥
[
)
a
<
0 1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1.ARM=0.APV=16 |
1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
g =
Q 3500 f=—
< =
3000 f=——
=
2500 =
2000 f—
=
1500 f=— |
1000 Ea—
500 E——
o f—-
=
0

APV channel

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
oE—--
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
.- 4000
] 5 5 5 5 5 g
&
9 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 25 03:21:08 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=1,asmb=1AB

Sat Feb 25 03:21:43 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

70 E

60

RMS (ADC-ped)

50
40
30
20

10

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

i
120
APV channel

70

60

RMS (ADC-ped)

50

40

30

20

10

°'I111|HH|'I'I11|IHT'

0

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

50

40

RMS (ADC-ped)

30

20

10

>FTTT[ T[T TEEE

[CADC RMS for RDO=1,ARM=0,APV=15__}

60 r

50

RMS (ADC-ped)

40

30

20

10

[ ADC RMS for RDO=1,ARM=0,APV=16 }

1
20 40 60 80 100 120

s =
S 60 f—
Q b—
o b—
< oy
5 50 p—
b3 —
'3
40
I 5
u :
30 :
20
10
o i i i . i i i i
0 20 0 50 80 100 120

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Feb 25 03:19:19 2012

ADC for FGT RDO=1,ARM=0,APV=17

2

ADCApeg

1000

2000

3000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=18

2

ADCAPerlé

raw ADC

[ Apcfor

2

ADCApeg

1
1000

i
2000

I
3000 4000
raw ADC

[ ADC for

FGT RDO=1,ARM=0,APV=20

2

ADCAp&g

0

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=21

ADC-ped

3000 4000
raw ADC

4000

Tt
3000 4000

[[ADC for FGT RDO=1,ARM=0,APV=17_J

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=18 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 =t - - - - -
< =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() == ST
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=—— :
= 2
= 2
500 f=— H
r—y .
0 f— a
= 3
= 1 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 25 03:21:09 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13056011 FGT RMS 1,Timebin=2,Disc=1,asmb=1AB
Sat Feb 25 03:21:44 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

= ;
g 50

(o] .
o v
< [
[%] b
s 40 1]
& o

30

TF

°'H'I'I'l1'|".'? l&_l_l_|_|_|_'_l_l|l]|

20

10

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

50 7

RMS (ADC-ped)

" " " " " " " " " " " " " " " 1 " " " 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=19 |
50

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

APV channel




run_13056011 FGT ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 25 03:19:23 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

1 I
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

ADCApeg

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=4 }

§Oz

a
<

Ik
0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=1,APV=1

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=2

" 1
40 60 80 100 120
APV channel

40 60 80 100 120
APV channel

- 4000 p—=
] = .
o = :
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 f=——
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i
20
[ ADC for FGT RDO=1,ARM=1,APV=3
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 P=— - v - b e e e :
= 2
= .
500 s e e .
L= .
Of—--r-mnpmmmeae -
= 2
= 1
0

[ ADC for FGT RDO=1,ARM=1,APV=4

40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.1 .1 o . d EoA

10°

10"

10

10"

10

10°

10°

10"

10°

10"




run_13056011 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 25 03:21:10 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13056011 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sat Feb 25 03:21:45 2012

[ ADC RMS for RDO=1,ARM=1,APV=0 }
= —
g 90
8
< 80
0
= 70
©
60 E
50
40
30
20
10
o i i i i
60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=1 }
=
g 60 p—
[}
a
<
o 50
=
@
40
30
20
10
0
[ ADC RMS for RDO=1,ARM=1,APV=2 "}
=
g 60
Q
a
<
(%] 50
3
3
40
30
20
10 P
=
o = i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=3 }
=
g
4}
a
<
0
=
©
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=4 "}
= —
g 90 H
o =
2 80 H
0
= 70
@

60

50

40

[ EERERICRICEIIENICHICHIL

30

20

10 [

i
120
APV channel

0




run_13056011 FGT ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 25 03:19:26 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

iIsc=

2,D

IN=

b

Ime

Sat Feb 25 03

run_13056011_FGT_MPV_1,T

12 2012

21

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13056011 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sat Feb 25 03:21:46 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13056011 FGT ADC 1,Timebin=2,Disc=2,asmb=2AB

Sat Feb 25 03:19:28 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

2

ADCApeg

1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1ARM=1.APV=13 ]

ADOpgj

I
3000 4000
raw ADC

1
1000 2000

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

2

ADCApgd

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

ADC‘de

1000

2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000 p—
5] = . . 5 5 0
= = i
8 gD [i=—p =g o000 deocsc0000050050905psc00005500boasaqefec0095005095005504p095005055005500005500509500550990354(050950
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
L e A e P S T R LT P EPEE CEEE
=
500 f=—|- - - EERREE
=
L T B T e R CETLEE S Lot EEe
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—
< =
3000 f=—
=
2500 [=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
= 4000
Q 3500 L EEEEELELLE 2o
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.1 .0 Eood e A

10

10"

10

10"

10

10"

10°

10"

10°

10"




run_13056011 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 25 03:21:12 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 25 03:21:46 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

1) R ey e . e . e

80 s R TR -

RMS (ADC-ped)

60— {15 A{----- | EAEEE R R R PP R PR PEPLPEE e CERE | EEEPEPETRS | EEREEE REREREER

a0 b

7 e I I e e

h—
h—
H

i
120
APV channel

o

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

70

1

60

RMS (ADC-ped)

50

40

30

20

10

o 1 AL A AR s

1
9 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

APV channel

60

s0 [

RMS (ADC-ped)

40

30

20

10

i
20 40 60 80 100 120
APV channel

APV channel




run_13056011 FGT ADC 1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 25 03:19:32 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

ADCiged

I
3000 4000
raw ADC

1
0 1000 2000

ADC for FGT RDO=LARM=LAPV=19
—

2

ADCApgd

I
3000 4000
raw ADC

i i
1000 2000

ADC for FGT RDO=1,ARM=1,APV=20

ADC‘de

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

2

ADOpeg

3000 4000
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

1
120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - -
% =
3000 f=—|- - - - - - - .
=
2500 f=—1- - - - - - - -
=
2000 = B
=
1500 =+ - - - - - - -
1000 p=—|- - --- - - -
=
500 f=— e - - - e e o
=
= et
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 =t~ - 4= - or e es e p e e s
= 2
Of—f-q-q-=r-t-refmaqrmepmn- - e
= 5
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 25 03:21:13 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=2,asmb=2AB

Sat Feb 25 03:21:47 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

70

60

RMS (ADC-ped)

50

40

CERNIJ0CCEEEK] IIH-I-I'l

30

20 B
10 F—
ot g
iy
= i i i i
0
0
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

g 60 Fry
-3 2
(6] T
< %i
< s0 B
12}
: =
40 ="~
[—
[
20 f—-} -
0 f—-
[—
[
=L
0%

[ ADC RMS for RDO=1,ARM=1,APV=19 }

70 /—

60

RMS (ADC-ped)

50
40 [+
30 :
20

10

oHT

0

[ADC RMS for RDO=1,ARM=LAPV=20 _}

3 80 f—
o —
9 =
70 E
< :a—
@ e
& 60 B
us
50 -
e
40 B
EE
30 B
=
0 =
=
%

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

APV channel

RMS (ADC-ped)

APV channel




run_13056011 FGT ADC _1,Timebin=2,Disc=3,asmb=3DA

Sat Feb 25 03:19:35 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

;
Ed

ADC-p

Tl
3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ol
[

a)
<

i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

= 4000 p—
5] = .
o = :
Q 3500 |- - {1 f - EETE B BYERE | EEE R | REPrr P
< =
3000 f=—|- - 91 f - - 1 EEEE B B EEE [ ORE EE T R R 1
=
2500 =g+ - 1=t - SR B B R £ EEE RO 1 T R R
= 2
2000 f=t—|- - 4= 1< f -0 - 1 EEEX B B3 EEE | EEE EURY | R X T R R
= 8
= 2
1600 fi o« fr pe e EETE B B PR | BRI 1 D R 10t
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R B TR
= 2
500 fet—|- (-4 -4 -} ---- ] I eyl selbescacas
= 2 5
= i 8
3= SRR E B SRR | A | i S
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=1 }
- 4000 p
g = 2 2 2 2 2 2
9 3500 fo—
< =
3000 f=—
= 1
2500 fF=—
L
2000 fF—
=
1500 f— |
E 10"
1000 p=—
L
500 =
o
0
= . . . . 2
= I P I U N S T R 10
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=2 "}
- 4000 py
] = . . . .
g = 2 2 2 2
Q 3500 f—+ - {-{-}-F-f -4k -t-
< =
3000 [l - {-{-}-F-f -2k -t-
= 1
2500 pE—-A-{-1-}-F-F 424 F---- - t-
=
2000 2o
=
1500 B 4-1-1-f-r- - 1 S LELELE ==
= 10"
1000 B A-4-1-f-r-F - 241 -p - -e - “t-
L
V)= O B X Y S O AR | PR PP adha
=
o -t - -- BT
= -2
1. 1 1 1 1 1 w
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F= -
< =
3000 = |- 1~
= 1
2500 f=— |- 1-
2000 f=r— - 1
=
1500 = -
= 10"
1000 P=— - 4 -
=
500 f=— |- 1+
=
oE—1-+-
= @
= 10
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=2,APV=4 l
- 4000 p - - - - -
o =
9 3500 |- - - - - - - N EEEET EEE B LR RS T e R EEEEE
< =
3000 P~ - - -- Apoeoeiless|idredpye=zqee opqp=oce S EEEL i EEELELE 1
2500 - - - - - - dbacacloac|ldbadpdescdca S o
rm
2000 |- - - - - - | S EERY I T B R A PR R
=
=
1500 fEH—|- -+ - - - B SRR EERY Bl TE PE P e Speeens 10t
i=.
1000 pF—f- - - - - - N EEEEY EEE) B LR RS T e R EEEEE CE Y EEL
=
500 pF—|- - - - - - - H EEEET EEE B T LR RS T e R EEEEE
=
o - T 1 crro bl i b 10°
Bl . . . . i . . i . i . i . . i .
0 2 40 60 80 100 120

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 25 03:21:14 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13056011 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sat Feb 25 03:21:49 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

180

160
140 f—
120 p—
100

80

60

40

20

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

50

40

30

20

10

SATTTIATIHT H'ITII'I'I'TITI

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

Y=

50

40

30

20

10

5]-00033 313331 XEEEEEEEEEE]

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

80
70
60
50
40
30 [(gH------- -
) = T S

10 -

i
120
APV channel

0




run_13056011 FGT ADC _1,Timebin=2,Disc=3,asmb=3DA

Sat Feb 25 03:19:39 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

.
2
Q

a)
<

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

s

a)
<

I
3000 4000
raw ADC

ADCApedOA

1
3000 40(
raw ADC

S}

[ADC for FGT RDO=1,ARM=2,APV=8 }

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=9 }

§Oz

a
<

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A

[ ADC for FGT RDO=1,ARM=2,APV=6

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°-m|]1r| |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=7

" 1
100 120
APV channel

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
ofE—-
=
APV channel
[ ADC for FGT RDO=1,ARM=2,APV=8
- 4000 p—
5] = . . .
g = 2 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=9

80

100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 25 03:21:15 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

. . ; ;
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

3 =
3 —
Q 1500 p—
8 g
< —
z [—
g o
] [
1000 f——
500 f—
M
L
0 p—0
500 = i . . . i . . . i . . . i . . . i . . . i
Q 20 a0 AN 20 100 120

APV channel




run_13056011 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Sat Feb 25 03:21:50 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

160
140 =
120 f=
100
=

80
60

40

20

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

h—
h—
h—

60
50
40
30
20 [

10

[ ADC RMS for RDO=1,ARM=2,APV=7 }

RMS (ADC-ped)

90

80

70

60

50

40

30

20

10

© AT T E R I

i
120
APV channel

0

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 25 03:19:42 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=3,asmb=3AB

Sat Feb 25 03:21:16 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 25 03:21:51 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 25 03:19:44 2012

ADC for FGT RDO=1ARM=2,APV=17 _§

[[ADC for FGT RDO=1,ARM=2,APV=17_}

2 - 4000
|3 g
Q ceaaaaa - abfeceeaaaa
Q Q 3500
< <
3000 EE T - N
1
2500 EE T - N
10 2000 EE T - N
1500 e - e
10"
1000 RE R - N
500 e heeen B | e
0 O DR SRR N ] R
2is | 102
1000 2000 3000 4000 20
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=18 | [ ADC for FGT RDO=1,ARM=2,APV=18 }
w0 - 4000 p—
3 & =
%) o =
9 9 3500 f=
< < =
3000 f/— 1
2500 fm—
10 2000 fm/——
=
1500 f=— 10t
=
1000 p=——
=
500 f— o
2 2 2 =
E 10?
. =i E_. . . i . . . i . . . i . . . i . . . i . . . i .
3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=19 | [ ADC for FGT RDO=1,ARM=2,APV=19 }
- . 4000 p=
3 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —-
9 g 3500 =
< < =
3000 = 1
=
2500 =
=
10 2000 f=
=
1500 g 107
1000 P=
=
500 f= 8
=
= 102
i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=20 | [ ADC for FGT RDO=1,ARM=2,APV=20 |
2 4000
®© T = . . .
2 S = : :
Q Q 3500 f=
< < =
R i 3000 = 1
i 2500 =
2000 f=
=
= i
1500 = 10
B 1000 P=
=
. . . 500 =
= 2
: o= &
% B : =
- - - - - =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=2,APV=21 _}| [ ADC for FGT RDO=1,ARM=2,APV=21 }
L - 4000
g 2 = . . . . .
[ & =
%) 9] = | (R ) N R A
Q Q 3500 5
< < =
3000 fEE— - - {1 -} -F-- -1 H - <M a
2500 fo— - 4= {{ === F-F -1 1 - H
=
2000 pF— - - {{ - - -} -F - 41 - - -F
=
- -1
1500 EE— - - 41---F-F - 41-1- - -H 10
=
1000 FF— - - {{- - -t -F - - 1- HF - -k
=
500 === ==F {11 I
=
= @
[ = PR i I § 10
B . . . i . . i . . . i . . . i . . . i .
3000 4000 0 2 20 60 80 100 120

raw ADC APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 25 03:21:17 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

PRTTITH

20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 25 03:21:51 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

250 [

200

150

100 [r

50 -

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

70

60

50

40

30

20

10

113

S =CEENXIOCEERNII0CERNIII0CERIIOCEENR]

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

80

70

60

50

40
30
20

10

0

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

120 [
100 :
80 [+
60 |+
40 |

20 [+

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 25 03:19:47 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=4,asmb=4DA

Sat Feb 25 03:21:18 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sat Feb 25 03:21:52 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 25 03:19:49 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

2

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

ADC-ped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=3,APV=7 }

ADC-ped

i i i
1000 2000 3000 40

0
raw ADC
[ADC for FGT RDO=1,ARM=3,APV=8 }
2
|4
[a]
<
10
1
0 1000 2000 3000 4000
raw ADC
[ADC for FGT RDO=1,ARM=3,APV=9 }
2
|4
=]
<
2L
0 1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L0 L L L L LD LA i

[ ADC for FGT RDO=1,ARM=3,APV=7

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=3,APV=8

80

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=3,APV=9

4000

120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© A A A A

APV channel

... 4 E.,.41 N4 K0 R0

10

10°

10°

10"

10

10"

10°

10"

10°




run_13056011 FGT MPV_1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 25 03:21:18 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Sat Feb 25 03:21:52 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

45

40

RMS (ADC-ped)

35

30

25

20

15

10

°TH1II1II]II1I[IIH|HH1II1 i

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

|11'I'I

50

TTT

RMS (ADC-ped)

40

30

20

10

O-I-III‘II'I-I'I'III‘l'I'I'I'I‘IIi"I

[ ADC RMS for RDO=1,ARM=3,APV=7 }

50

40

RMS (ADC-ped)

30

20

HTIT |1'|'r|1

10

APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

= =
& =
Q B0 = e e e
< =
0 —
z 50 [E==peooooeoeee0e000262202000000002000002290@P002000209900302205900 590003

40 :

30 FH

I

w0 f—

w0 e

0%

APV channel
| ADC RMS for RDO=1,ARM=3,APV=9 .

215)

RMS (ADC-ped)

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 25 03:19:52 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

o
3
5
%)
a
<
10
1
0 1000 2000 3000 4000
raw ADC
[[_ADC for FGT RDO=1.ARM=3.APV=13 |
2
¥
[
%)
a
<
10

Tt
3000 40(

1000 2000 0
raw ADC
[ Apcfor Fet RDO=LARM=3APV-14 |
5
3
[
o
a
<
i i i
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=3,APV=15 |
2
|3
)
a
<
10
1
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=LARM=3.APV=16 ||
o
3
[
o
a
<
10
0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
0p—
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=—--1-----
< =
3000 f=—r-q--- -
2500 fm— - - 4= -
2000 fm— - - {-----
=
1500 f=— v -4 - - -
=
1000 f=— - - {- - - -
=
500 fm— s - - -
= 5
0= i
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— Sfee-
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
oE— e
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 f=—- - -
=
=
500 fp=—- - -
=
ofE—---
=
=
0 20 40 60 80 100 120
APV channel
[ ADC for FGT
.- 4000
5]
&
Q
9 3500
<

3000

2500

2000

1500

1000
500

0

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 25 03:21:19 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 25 03:21:53 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

80 E

70

RMS (ADC-ped)

60
50
40 F
30
20

10

0
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

RMS (ADC-ped)

i
120
APV channel

[ADC RMS for RDO=1,ARM=3,APV=15__}
80

70

60

RMS (ADC-ped)

50

40

30

20

10

°'I1H[I'I1I|H‘I1|h'l‘l TR

0
APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

70 p=

60

RMS (ADC-ped)

50 £
40
30
20

10

20 40 60 80 100 120
APV channel

0




run_13056011 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 25 03:19:56 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 25 03:21:20 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 25 03:21:54 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13056011 FGT ADC _1,Timebin=2,Disc=5,asmb=5DA

Sat Feb 25 03:19:58 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

.
¥
Q

a)
<

[ADC for FGT RDO=1,ARM=4,APV=1 }

[ 1000 2000 3000

raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

1000 2000 3000 4000

raw ADC

ADC‘pgd

2000 3000 4000

[ADC for FGT RDO=1,ARM=4,APV=4 }

raw ADC

ADOpgj

1000 2000 3000 4000

raw ADC

4000

[ ADC for FGT RDO=1,ARM=4,APV=0

ADC-ped

4000

3500

3000
2500

2000

1500

1000
500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1

ADC-ped

4000

3500

3000

2500 A
2000 pe=e
1500
1000

500

0 el g L S ==

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=2

ADC-ped

aEldENATERIAGNATGRAAGNAGRARRIATENATRNATENAG]

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=3

ADC-ped

4000

3500
3000
2500 f=
2000
1500
1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=4

ADC-ped

4000

3500

sooollcocoooad )

3000
2500 R .-
2000

1500

sooollcocoooad -

1000

500

0

soccliomsannod ~2

4000
3500 EF—-1-1--r- SRR
3000 p4H—-9-1--r- afeten 1
2500 foF— - {-{--¢- : . Syete-
2000 B - e
1500 FF—{-1-{--t- Spete- 10"
1000 FF—{-{-{--t- Spete-
500 fF—{-{-{--F- cdopes
0 “{--r- EEER R 102
i i i i

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 03:21:20 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 03:21:54 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

RMS (ADC-ped)

=
160

140

120

100

80

60

40

20

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }

RMS (ADC-ped)

140

120 |
100 E

80 [+

60

20 |

20 f—

0

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

160

140 f=

120 p=

100

80

60

40

20

0

[0

120
APV channel

RMS (ADC-ped)

100

T

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

RMS (ADC-ped)

920

80

70 E

60

50

40

30

20

10

0

° Tlrllm I|1ITI]H1I[II II]IHI[H

APV channel




run_13056011 FGT ADC _1,Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 03:20:01 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

iIsc=

2,D

IN=

b

Ime

Sat Feb 25 03

run_13056011_FGT_MPV_1,T

21 2012

21

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13056011 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Feb 25 03:21:55 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13056011 FGT ADC_1,Timebin=2,Disc=5,asmb=5AB

Sat Feb 25 03:20:03 2012

ADC for FGT RDO=1,ARM=4,APV=12 _§

ADC-ped

3000 4000
raw ADC

ADC for FGT RDO=1ARM=4,APV=13 _§

2

ADOpeg

10

Tl
3000 4000
raw ADC

[ ADc for FoT RDO=1.ARM=2.APV=14__ ]
—

3 5 5 5
%0
18]
a
<

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=4,APV=15

2

ADCAng

10

3000
raw ADC

4000

[L_ADC for FGT RDO=1,ARM=4,APV=16 _}

2

S

ADC-peg:

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=4,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13056011 FGT MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 03:21:21 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13056011 FGT RMS 1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 03:21:55 2012

[ADC RMS for RDO=1,ARM=4,APV=12__}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=4,APV=13 "}

120 |

100

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=14 "}

70

60

RMS (ADC-ped)

s0 |
40
30
20

10

0

i
120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=15__}

60

50

RMS (ADC-ped)

40

30

20

10

° ||||||||| (RERGEARENARAL 1|]J__LLHI

APV channel

| ADC RMS for RDO=1,ARM=4,APV=16 }

90

80

RMS (ADC-ped)

70
60
50
40 =
30

20

10

. . . i . . . i
20 40 60 80 100 120
APV channel

T .
Y =— . . i . . . i . . . i . . . i
0




run_13056011 FGT ADC_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 03:20:06 2012

ADC for FGT RDO=1ARM=4,APV=17 _§

[[ADC for FGT RDO=1,ARM=4,APV=17_}

[ 1000 2000 3000

4000

3500

ADC-ped

3000

2500

2000

1500 :
10

1000

500

0

10"

4000

N
NE-

raw ADC APV channel

ADC for FGT RDO=1ARM=4,APV=18 _§

[ ADC for FGT RDO=1,ARM=4,APV=18 "}

ADC-ped

4000

3500

ADC-ped

3000

2500

2000

10

1000

500

0 -
10

1 1
1000 2000 3000

[ ADC for FoT RDO=1.ARM=2.APV=19 ]
—

rm
=
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
=
=
0

" " 1
4000 20 40 60 80 100 120

raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=19 }

ADC-ped

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500 10°

0

i R EEEEE
1000 2000 3000

ADC for FGT RDO=1,ARM=4,APV=20

2

4000 20 40 60 80 100 120

raw ADC APV channel

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

ADCApeg

0 1000 2000 3000

ADC for FGT RDO=1,ARM=4,APV=21 _§

4000

3500

ADC-ped

3000

'1TP1IW1TH

2500
2000
1500 10°
1000

500

0 10°

° 1|r|]|r|1|r|1|[|1|r|1|r|]|||1

4000 20 40 60 80 100 120

raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=21 }

ADCped

0 1000 2000 3000
raw ADC APV channel

4000

3500

ADC-ped

3000
2500
2000
1500
1000
10°
500

0

aildENRTERIAGNATGRAARNAGRARRIATENATENATENAG]
= =
o

4000




run_13056011 FGT MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 25 03:21:23 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=4,APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
O o
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20 a0 0 a0 100 120
APV channel
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Sat Feb 25 03:22:03 2012
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